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DR JEKYLL AND MR HYDE TEST ANSWER KEY LEVEL ()

1 1 laboratory 9 Dr Jekyll
2 lawyer He has a laboratory.
3 potion He is usually a good man.
4 powder
5 scientist He made lots of potions

with different powders.
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Mr Hyde
3 1 Wil He is a bad man.
2 After He murders Sir Danvers Carew.
3 death
4 must He hides from the police.
5 all
6 Scientist 10 1 going
2 running
4 1 change 3 blackmailing
2 Read 4 staying
3 went 5 hiding
4 met 6 standing
5 hit 7 making
6 saw 8 becoming
7 gave
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right wrong

ke everyone
happy scared

my Hyde’s

hid murdered
elose break down
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sometimes

the right potion
to the gallows
fast

white powder
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